EARAROBEEIERT — 2 N— IBISH —F

2019537108 (B) 1EIBR##H6H

v >54mt 5005F ¢

B A
=]

)

HEE] EE

‘ (] 8 ‘ (sl — | 4 (5) 18000 FEE

[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1l8lg| 77 bLTx A #o4 | BHED 1:(5_3).5 3-3-32 [37.6 93.0 | 3 | 494 iﬁ;ﬁ (E®)
RN=5—3yF BioehO—7 O pan mmEus
DAY = Ho7 | ANEEt 1:53.5 9-9-9-8 [36.9| 93.0 | 2 486 | HHEZ (FR)
EE 6|y 7—au541 57.0 (AF) (16) | HIBER
R:Nd B:2TRRZXE— HH Bz
N . t 5 | BHF 1:53.7 2-2-2-1 |37.9| 91.2 | 1 546 | mE=LE (RR)
3188 TIWNRTZ7—> [B] * 57.0_7_ (1 1/4) (-4) Fi‘(’ﬁ) TIWT 2 RRT
LY v—N—FK B:7YINED— TREESUS
> i o6 | tAR— 1:53.9 7-6-4-3 | 37.9| 89.4 | 5 514 | iBKAFE (ER)
4011 |FTRAML=T 57.0 M o) | PR
LNNVTSY BEFRTCTA)ZR THAIS
N - FEHEBZ 154, ~5-6- . . MAE (EX)
5 | ®@IA LT AT 1 X o4 2 1(15/42>0 5-56-6 |37.6| 88.4 | 6 (432) VHE 2R
W AFA D=L K BEaAXETrLUF AXET2—T7— L
SR 4t 4 | ESRST 1:54.0 7-8-6-5 |37.7| 88.4 | 4 440 | BREIESE ()
61717 TAIVRKS T 57.0 ’ (7€) 6 | R AFYIHR-—NT TR
RTANRTy 2 BEY S HL— HIE 7 7 — L
> = o4 | BERHR 1:55.7 6-6-6-9 |39.2| 74.5 | 7 446 | REET (RR)
7 4| 77T * 57.0 (54%) 4o) | ) J—2EnZ
R:F4—=TA>N7  B:HRUF> #HRXEHt /-2
o N EIGE : -3-5- AIBEH (ER)
glsls|/XT—T o o4 o 1.(556).5 3-3-5-7 |40.2| 69.0 | 8 :?g) e |
R:yZX4—3=24— B:vYTqF—L 1T
N N RHE :56. -1-1- . . ZHET (ER)
9 3|®@XA¥37aTT ' 57.0 (11516/47) I R R :1_586) mmﬁ%
L:¥LJANZN Bik—v2T)y T B e
@ 71 L
) 50.5-37.8
NO>24 L | 12.9-11.5-13.2-12.7-12.7-12.7-12.5-12.1-13.2
@ 1—F—@&BIEf
13=7r= 3,8(5,9)2,4(1,7)6
20—+ — 3,8-(5,9)-2(1,4)7-6
S=57= (x3,8)9,1,5(2,4,7)6
43—7— (8,9) (3,1)7,2,5,6,4
[ RN
B OB 9 440M 714K 6-9 280M e & 6-8 330M &R 6-8-9 590
8 B 9 150 8-9 270M B & 6-9 950/ 3B 9-6-8 4,310/
6 120 6-8 180M B H 9-6 1,940
8 1204

ABICOVWTRDTEEERROODE. TR LIV,




